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1. What are the term symbols 2S+1LJ of the electron configuration 2s12p\? (20%) 

. (15%) . 

3.	 Prove that we do not exactly know the momentum of a free particle with wave 

function coskx. (15%) 

4.	 Prove that for an ideal gas, where U is the internal energy. (auJ = (auJ
aT aTp v 

(15%) 

5.	 The Lindemann mechanism is 

A+M~A*+M 

A*+M k_ 1 >A+M 

- --A*~P - ­

Prove that d[P] = k 2k1[A][M] (15%)
 
dt k_1[M] + k2
 

6.	 What is standard boiling point? What is normal boiling point? (10%) 

7.	 What is ideal solution? What is ideal-dilute solution? (10%) 


